3. Determine the measure of #to the nearest degree.

S55 = Cosine. laws-
102.0 cm 91.8 cm

"2 2. 2.
CoSB= D2+ 602

o

100.2 cm ¥ S 52)(9! E)
a. 60 (DS Cos !
: ;1: Cos®=879].2 - (DL
@) 62 | 87T



5. How you would deternune the mdicated angle measure. 1f 1t 15 possible?

SSA

2.5 cm

3.2cm
4. nol possible
b. primary trigonometric ratios

- the cosine law
@ the sie law



6. Which law could you use to determine the unknown angle 1n this trangle?

4.0cm

a. neither the sme law nor the cosine law
b. the cosine law only

the sme law and the cosine law
d. the sme law only



8. [nﬂ-.‘l’}'z____i_}’— 29'3__3_"— 154 m, HIIILLL— 12.0m.
Which statement 1s true for thus set of measurements?

b.  This 1s a 554 situation; no triangle 1s possible.
c. Thisis a 554 situation; only one triangle 1s possible.
This 1s a $54 situation: two triangles are possible.

oPp < &Cg ‘q: adﬂ’sm\f
& L R P

@'PP > P;%Q = /466




1. Deternune the length of d to the nearest tenth of a centimetre.

ApAs R _d _ F
SIinD SmF
A d _ 82
E QL F S'm 1_(‘71:- 5};"175'5
D=30"-58-75" (= QasindT
D=47° Sn75°
d = 6.208¢ .




3. Deternune the length of s to the nearest tenth of a centimetre.

SAS A 51= Tiﬂe-’g“ AL s

51.0 cm S < 2 'l 5
S =01+ 5| - A0 DGNcosSt

54°
3 50.1 cm T

S=5111.0] - 3003700 .
459em| (G

= 45. 905 . om




| 5. A kavak leaves a dock on Take Athabasca, and heads due north for 2.8 km. At the same time, a second kavak
travels in a direction N70°F from the dock for 3.0 km.
Determune the distance between the kayaks, to the nearest tenth of a kilometre.

ngkﬂ‘-




off > ody

200 In A4BC, A4 =26 a =85 cm, and b =5.0cm. Determine the mumber of triangles (7ero, one, or two) that
are possible for these measurements. Draw the triangleds) to support your answer,

Dpf)‘?ﬁdaj = ( A
-




L T T S e T Ty

deviation (a) ol 2.5 nunules.

a) Draw a normal curve nsing the above informanon, Label completely,

3434
RS 3.<

OG

3
il
75 12135 15 175 20 33§

L u F
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15 adwe LT S s
b) What percentage of the-elassseered-above85%-on-the test?
\QD / 15 (D ’f' ‘A0 m?

¢) What percentage ottheclassscored between‘ﬂiand—%véﬂ'



1. What z-score corresponds to having 67.35% of the data to the nght?

-

a. 7=045 \
b. z=0445 e

Ry Go-6l3S
= 32.65% Pothe ot

0.32.65
Z=—0.45



10. Determine the z-score for the given values.
w=360.c=20.x=3I15

Z = X—M
~

35— 360
2.0

=40 - -5
a0




1. (Calculate the raw score for the given values.
L=86,g=135 z=-0.27

X= U+ Z06

X= ¥+ (07 (3.5)
X=86 — D.64S
X= 82,355



12. Determine the percent of data:

a) to the nght of the z-score: z=-0.19. ) - D LI'QH'_[: 05753

—

b) to the left of the z-score: 2= 1.13 "D ‘87'0?

¢) between the z-scores of z = —0.34 and z = 0.81

079D
- 0. 369

O 4 2.4 |




3. The results of a survey have a conhidence interval of 29% to 37%, 9 times out of 10.

Determune the margin of error. N ——

i_/—l' 57‘“2-0(‘_— 8]_2:'!"'



4. A survey regarding people’s perceptions of car manufacturers” reliability found that 66% plus or minus 3% of
respondents believe that Tapanese cars are the most reliable, 95 times out of 100,  In a population of 250,004,
how many people would sav thev believe Japanese cars are the most reliable?

Colo =575
Lo =5 = 617, =06l x3%0000 < 153 560
to +o
6L+5 =717, =01 x 250000 =1 7158



20, A hardware manufacturer produces bolts that has an average length ot 1,22 in., with a standard deviation of
.02 m. T'o be sold. all bolts must have a length between 1.200m0 and 1.25 m. What percent. (o the nearest
whole number. of the total production can be sold'?

- - /1"/9«1__ _
M=o 2= |
O = D.OL
Xy = [,2.0
Xe = /25

Z, = [25-122 _ [ A
0.0

D932
~0.1587
T 15— D.T7¢S




